13-08-21 Issue 5

Tapered Radar Mast

Installation Instructions

- PTM-R1/R2 & PTM-R1/R2-540

T0DPT-SRM3-1  x1

T0DPT-SRM3-2  x

©

60085
M8 S/S washer x4

l'llll."
AN N\

1 60080

§

610825
M8x25 CSK
x4

60060

60068
M6 Nutcover x6

60065

R
s\ \,
IP Sealing Grommet x 2

101817
IP Sealing Grommet x 2

101804

Top Plate

M6x25 CSK x6

M8 Nylock x4 M6 Nylock x6 M6 S/S Washer x12
FLIR M100/200 Fastners Tools Required |
i —
60068
e M6 Nut cover x12 TSSO
19008 M10 shoulder washer —
Base Seal x1 x4 @ 60060 8mm Flat Head #10mm
M6 Nyloc Nut x12
60702
M6 Nylon Washer x 12
60065 [ Y —
M6 S/S Washer x 12
13mmx1 Hole Saw
PTM-R1/2-540 610625 Tommx 2

@ Dependant on cables

620620
M6x25 SKT x6

PTM-R1/2
Top Plate shown

Parts Required |

60068 x3

60060 x3

M10 x 25mm+

¢

]

3¢

[ g —

===

60021 x3

60065 x6

64004 x4 =
1

10039
M100/200 Top Plate for PTM

U/ 610625
T

i j e

/-~ >——60702 x6
é—aooes X6
&——60060 X6
G——60068 x6

/ 10039 FLIR M100/200 riser kit only

610825 x4

60085 x4

60080 x4




FLIR M100/200 Riser Kit ONLY

ex M6X25mm

Socket Head —L

FLIR Supplied

CAM Seal
ex M6 Nylon-
Washer

6X M6 S/S

Washer T

M6 B
Nyloc Nut

IMPORTANT

No liability is accepted for damage caused by incorrect installation.
The installation and assembly must be regularly inspected for evidence of damage or loose parts.
Product has been designed specifically for the mounting of approved marine electronics under normal boating conditions.

IMPORTANT

Scanstrut déclinent toute responsabilité pour les dégats résultant d’une installation incorrecte.
Linstallation et I'assemblage doivent étre inspectés régulierement afin de déceler des dégats ou des piéces désserrées
Ce produit a été spécifiquement congu pour le montage d'appareils d'électronique marine approuvés dans des conditions de navigation normales.

WICHTIG

Fur Schaden aufgrund unsachgemaBen Einbaus wird keine Haftung ibernommen.
Der Anbau und die Baueinheit miissen regelmagig auf Anzeichen von Schaden oder lockere Teile gepriift werden.
Dieses Produkt wurde spezifisch flr die Befestigung genehmigter Elektronikgerate fiir die Schifffahrt unter normalen Bootsfahrtsbedingungen entwickelt.

IMPORTANTE

Si declina qualsiasi responsabilita per danni causati da un’installazione erronea.
Linstallazione e il montaggio devono essere ispezionati con regolarita per verificare la presenza di danni o di pezzi allentati.
Questo prodotto é stato studiato appositamente per il supporto di apparecchiature elettroniche navali approvate in normali condizioni di navigazione.

IMPORTANTE

No se aceptara ninguna responsabilidad por los dafios causados por una instalacion incorrecta.
La instalacion y ensamblaje debera inspeccionarse regularmente, comprobando cualquier evidencia de daios o piezas aflojadas.
Este producto ha sido especificamente disefiado para el montaje de equipos electrénicos marinos aprobados bajo condiciones normales de navegacion.

Scanstrut Ltd. 5 Darts Business Park, Clyst St. George, Exeter, Devon, UK EX30QH Tel: +44(0)1392531280
E-mail: sales@scanstrut.com Website: www.scanstrut.com






